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When we identify what the pronouns refer to in "Roy questioned Anthony because he
or "Susan praised Diane because she ...," our processing is affected by the verbs® implicit causality
information (Stewart et al., 2000). The verb "question" makes the pronoun "he" refer to Roy (NP1l-biased),
while "praise" tends to make "she™ refer to Diane (NP2-biased). This study examined the influence of impl
icit causality information on L2 anaphor resolution. The results indicat that Japanese learners of English
could not use the verbs® implicit causality information.



While Bill watched the match, he drank a beer
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Roy questioned Anthony because he ...
Susan praised Diane because she ...
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Stewart et al. (2000)
NP1-biased verbs 10 (apologise, call,

telephone, confess, trouble, surprise, tire, interest,
disappoint, satisfy) NP2-biased verbs 10
(congratulate, thank, praise, scold, punish,
admire, like, notice, appreciate, hate)
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1 (name),
(congruent)
- 2 (pronoun),
(incongruent)

NP1-biased verb call

4 1
a.
Midori called Mao because Midori wanted
to ask questions.
b.
Midori called Mao because Mao had won
the Olympic competition.
C.
Midori called Mao because she wanted to
ask questions.
d.
Midori called Mao because she had won the
Olympic competition.
(Midori called Mao)
because
(Midori, Mao) she
a C
call NP1-based
Midori
call because
Midori (NP1)
1 2
NP-2 biased verb notice
4 1
a.
Brian noticed Mike because Mike was
wearing a pink sweater.
b.
Brian noticed Mike because Brian was
wearing new glasses.
C.

Brian noticed Mike because he was wearing



a pink sweater.

d.
Brian noticed Mike because he was wearing
new glasses.
call (Brian noticed Mike)
because
a c Mike
b d Brian
notice because
Mike (NP2) a
c Mike
b d Brian

Did Midori call Mao?
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(amaze, bore, disappoint, interest, satisfy, shock,
surprise, tire)

(a) (e.g., interest), (b)
(e.g., interesting), (c) (e.g.,
interested) 3
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SPSS Statistics 22
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(M =161.45, SD = 68.00)
M =
155.21, SD = 72.00)
(M=154.83, D =63.51)
(M=151.22, D=
62.91)
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